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Q.2 a. By Using Taylor’s series, calculate the value of f(ﬁj’ Where

f(x)=x" +8x" +15x—24 )
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b. Evaluate It (l —cot xj 3
x—
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Q.3 a. Evaluate by using the reduction formula jsin3 0 cos®* 0cos 260 dO )

0
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b. Find the common area lie between the parabolas x° = ay and y*> = bx
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Q.4 a. State and prove De’Moviere’s theorem. 8)
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b. Separate the real and imaginary part of tan(x + iy)
Answer:
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Q.5 a. Show that the vectors A4, B, C, if
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- - -

b. Prove that zx(pxz)+]x(px])+kx(pxk) 2p where p )2 z+p2 j+p3k(8)
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d’ d e
Q.6 a. Solve szmﬁw: E ®
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b. An inductance of 2 henries and a resistance of 20 ohms are connected in series
with e.m.f E Volts. If the current is zero when t = 0, find the current at the end of

0.01 sec, if E =100 volts. 8)
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Q.7 Examine the following series: (16)
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Q.8 Find the Laplace Transform of f(t) , where (16)
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2
Q.9 a. Find the Inverse Laplace Transform of 25" —6s+5 . )
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